Group A: Brooms/Brushes/Squeegees/Handles

	Desired Inventory Subs OV Quantity					Central Poly Cor	ъ	Titan Supply, I	nc	Monks Clean & Shir	пе	United La	abs	Meyer La	bs	HP Prod	d.	Kranz	Superio	r	Bade
VAH#	ltem#	Description	Subs. OK	Quantity	Unit	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price Total	Price	Total	Price Total
A01	-	17" Warehouse corn broom	Yes	10	Each					\$16.60	\$166.00					\$7.25	\$72.50	\$10.00 \$100.00	\$5.69	\$56.90	\$10.24 \$102.40
A02	-	3-1/2" x 16" Street broom with bass fiber (no handle)	Yes	20	Each					\$12.80	\$256.00					\$5.93	\$118.60	\$13.02 \$260.40	\$8.76	\$175.20	\$7.89 \$157.80
A03	27112-6	Concord 24" Garage/outdoor sweep broom with plastic bristles (no handle)	Yes	6	Each			\$12.40	\$74.40							\$11.69	\$70.14	\$9.85 \$59.10	\$6.74	\$40.44	\$12.68 \$76.08
A04	22570	24" Warehouse broom with palmetto tampico fiber and 3-1/4" trim (no handle)	Yes	20	Each					\$5.12	\$102.40					\$13.60	\$272.00	\$12.80 \$256.00	\$6.79	\$135.80	\$12.45 \$249.00
A05	27141	Bench/counter brush with tampico bristles with 8" handle	Yes	24	Each			\$6.25	\$150.00	\$4.54	\$108.96					\$2.72	\$65.28	\$2.13 \$51.12	\$3.45	\$82.80	\$5.83 \$139.92
A06	9B29	Rubbermaid Pot/kettle/fender brush with 8" handle and acid resistant bristles	Yes	6	Each											\$1.37	\$8.22	\$1.44 \$8.64	\$2.05	\$12.30	\$5.71 \$34.26
A07	96070	Deck type scrub brush with 8" handle	Yes	6	Each											\$1.24	\$7.44	\$1.31 \$7.86	\$2.44	\$14.64	\$6.83 \$40.98
A08	60608	Tire scrub utility brush with 20" handle	Yes	6	Each											\$3.78	\$22.68	\$3.64 \$21.84	\$1.71	\$10.26	\$5.83 \$34.98
A09	96066	10" Vehicle wash brush with soft hair/feather tip	Yes	24	Each											\$11.00	\$264.00	\$8.43 \$202.32	\$4.99	\$119.76	\$17.44 \$418.56
A10	BW136	60" Wood handle with metal threads (fits lambswool applicators/push brooms)	Yes	30	Each			\$3.15	\$94.50	\$1.85	\$55.50			\$4.19	\$125.70	\$3.73	\$111.90	\$2.75 \$82.50	\$3.42	\$102.60	\$4.46 \$133.80
A11	1204	ABCO Heavy duty screw clamp wet mop 60" handle	Yes	12	Each					\$8.81	\$105.72					\$8.06	\$96.72	\$11.25 \$135.00	\$5.90	\$70.80	\$9.84 \$118.08
A12	130-02	6-1/2" x 20" 24 oz Cotton wet acrylic bowlmop head (head only)	Yes	36	Each					\$2.48	\$89.28					\$2.84	\$102.24	\$2.95 \$106.20	\$3.17	\$114.12	\$1.20 \$43.20
A13	1113	ABCO 1-1/8" X 60" Tapered end handle. Hardwood only.	Yes	30	Each									\$4.07	\$122.10	\$3.42	\$102.60	\$3.76 \$112.80	\$2.89	\$86.70	\$3.60 \$108.00
A14	54036	Ettore 36" straight floor squeege with handle clamp	No	12	Each																\$19.15 \$229.80
A15	PR400	Unger Pro SS 16" window squeegee with channel	Yes	14	Each					\$15.20	\$212.80			\$14.65	\$205.10	\$13.37	\$187.18	\$12.95 \$181.30			\$8.92 \$124.88
A16	-	12" Metal dust pan	Yes	5	Each					\$3.22	\$16.10					\$3.65	\$18.25	\$3.80 \$19.00			\$5.66 \$28.30
A17	-	Parish Self closing lobby dust pan with handles, 37" H x 12" W x 11"	Yes	2	Each					\$13.78	\$27.56					\$22.04	\$44.08	\$7.10 \$14.20			\$9.92 \$19.84
						_															

\$174.00

\$134.26

\$65.32

\$265.10

\$397.88

VENDORS

Janitorial Supply Bid

Grou	ıp B: Buck	ets/Cans				VENDORS																	
		Desired Inventory				Central Poly Co	orp	Titan Supply, I	nc	Monks Clean & Shin	ie	United La	bs	Meyer Lab	s	HP Prod.	•	Kranz		Superio	r	Bade	
VAH #	# Item#	Description	Subs. OK	Quantity	Unit	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
B01	7580	Rubbermaid 35 qt wringer with bucket (yellow combo pack)	No	6	Each					\$71.10	\$426.60			\$66.32	\$397.92	\$47.75	\$286.50	\$49.20	\$295.20			\$62.50	\$375.00
B02	9171	Rubbermaid 45 gal ranger beige plastic trash can	No	2	Each			\$416.00	\$832.00					\$344.99	\$689.98	\$153.74	\$307.48	\$158.50	\$317.00			\$326.77	\$653.54
B03	2614	Rubbermaid 14 qt brute plastic bucket with pour spout	Yes	28	Each			\$14.40	\$403.20	\$13.32	\$372.96			\$13.14	\$367.92	\$6.39	\$178.92	\$6.58	\$184.24			\$14.83	\$415.24
B04	-	5 gal bucket	Yes	30	Each											\$4.89	\$146.70					\$9.01	\$270.30
B05	-	5 gal bucket lids with pour spout, needs to fit VAH# B04	Yes	10	Each											\$2.11	\$21.10						
B05	-	2.5 qt mix and measure container	Yes	30	Each																	\$14.74	\$442.20
B06	-	5 qt mix and measure container	Yes	18	Each																	\$15.84	\$285.12
B07	-	10 qt mix and measure container	Yes	18	Each	_																	

FY15b

\$727.32

\$940.70

2

Group C: Plastic Bags

		Desired Inventory			
VAH#	ltem#	Description	Subs. OK	Quantity	Unit
C01	-	.4 Mil 23 x 25 black waste basket plastic bags, 1,000 per case	Yes	0	Case
C02	-	2 Mil 38 x 58 black premium heavy duty triple strength plastic bags, 60 gal, 100 per case	Yes	10	Case
C03	-	16 Mic 43 x 48 high density clear plastic trash bags, 200 per case	Yes	0	Case
C04	-	Hospeco KL Waxed Feminine Hygiene Liner Bag with Gusset 10.25 x 7.5 x 3.5	Yes	2	Case

VENDORS	

Central Poly Corp		Titan Supply, Inc		Monks Cle	ean & Shine	United Labs		Meyer Labs		HP Prod.		Kranz		Superior		Bade	
Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
\$14.90				\$12.40						\$20.74							
\$39.10	\$391.00	\$25.80	\$258.00	\$21.66	\$216.60					\$25.96	\$259.60	\$37.38	\$373.80	\$27.45	\$274.50	\$33.65	\$336.50
\$24.00				\$21.10						\$20.49							
		\$22.70	\$45.40	\$12.30	\$24.60					\$12.97		\$12.26	\$24.52	\$16.57	\$33.14	\$17.82	\$35.64

\$216.60 \$24.52

Group D: All Purpose Cleaning Supplies

VENDORS

	Desired Inventory					Central Poly Corp	Titan Supply, I	nc	Monks Clean & Shine	e	United L	Labs	Meyer Lab	s	HP Prod.		Kranz		Superior		Bade	
VAH#	Item#	Description	Subs. OK	Quantity	Unit	Price Tota	al Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
D01	-	Brillo soap pads, 12 per case, 10 per pack	Yes	4	Case				\$30.13	\$120.52			\$29.55	\$118.20	\$31.49	\$125.96	\$34.48		\$30.36	\$121.44	\$31.45	\$125.80
D02	20500	A. J. Funk Co. sparkle window cleaner, 4 per case, 1 gal bottles	No	0	Case				\$27.58													
D03	-	Crystal View window cleaner, 24 per case	No	0	Case						\$14.50											
D04	-	Windex outdoor patio and glass in 32 oz container	No	12	Each										\$4.29	\$51.48	\$48.80	\$585.60			\$54.09	\$649.08
D05	-	Comet or Ajax kitchen scouring powder/cleaner, 21 oz cans.	No	0	Each				\$29.47						\$1.38							
D06	7108-03	Sparclean bowl cleaner, 2 per case, 12 oz bottles	Yes	24	Case										\$17.40	\$417.60	\$19.88	\$477.12	\$19.20	\$460.80	\$21.44	\$514.56
D07	35531	Ram Systems Stainless steel cleaner and polish, 15 oz spray can	Yes	12	Each																	
D08	08616	Limeaway cleaning agent, 12 per case, 32 oz bottle	No	6	Case										\$30.25	\$181.50					\$53.29	\$319.74
D09	31973	Spic n span cleaning powder, 12 per case, 27 oz box	Yes	3	Case				\$84.64	\$253.92					\$99.53	\$298.59	\$93.20	\$279.60	\$91.66	\$274.98	\$52.29	\$156.8 <mark>7</mark>
D10	03-7720	Mr. Jinx cleaner, 12 per case, 19 oz bottle	No	0	Case										\$29.44							
D11	40739R	Majetic Bleach, 6 per case, 1 gal bottles	Yes	20	Case				\$8.60	\$172.00					\$7.77	\$155.46			\$7.98	\$159.60	\$13.75	\$275.00
D12	36750	HP Products Deodorant and disinfectant aerosol spray, 15.5 oz cans	Yes	0	Case				\$41.71		\$10.50				\$29.53							
D13	-	Best Yet carpet spot remover	No	2	Case																	
D14	-	Zenex Zenafreez Chewing gum remover, 12 per case, 7 oz cans	Yes	1	Case				\$29.10	\$29.10					\$24.19	\$24.19	\$31.10	\$31.10	\$22.05	\$22.05	\$38.72	\$38.72
D15	636	Solar Gold floor drain treatment in 1 gallon containers	Yes	0	Gals						\$56.50				\$13.59							
D16	634	Solar Gold dumpster degreaser	Yes	0	Gals						\$58.50				\$11.73							
D17	-	Top Quat disinfectant cleaner	No	4	Case						\$19.50	\$78.00										
D18	-	Refresh Sorb odor absorber	No	0	Case						\$56.70											
D19	9338	Sun Brite Ammonia in, 4 per case, 1 gal bottles	Yes	0	Gals				\$6.81						\$1.28							
D20	-	HTH Liquid chlorinator (higher concentration than bleach), 1 gal bottles	Yes	4	Gals										\$4.65	\$18.60						
D21	-	Warsaw wash/wax in 55 gal drums	No	1	Drum																	
D22	-	Force Wipes antibacterial gymwipes (Large 8"x 6" towelettes in 10 lbs bucket)	Yes	15	Buckets				\$48.38	\$725.70					\$24.61	\$369.15			\$32.64	\$489.60	\$63.55	\$953.25
D23	-	Multimist liquid laundry detergent, 2 per case, 2.5 gal bottles	Yes	6	Case				\$41.15	\$246.90					\$81.88	\$491.28			\$29.80	\$178.80	\$27.85	\$167.10
D24	-	Luster Guard multi-surface protective coating and conditioner	Yes	3	Case	-									\$26.96	\$80.88						
												\$78.00	<u>'</u>	\$118.20		\$1,274.67				\$22.05		\$323.97

Group E: Paper Products

Desired Inventory	

VENDORS

VAH#	Item #	Description	Subs. OK	Quantity	Unit
E01	KC17713	Cottonelle 2-ply toilet tissue	No	117	Case
E02	KCC01980	Scott scottfold hand towel	Yes	400	Case
		Acceptable Substitutes: Georgia-Pacific #20389			
E03	-	12 oz insulated paper hot cup	Yes	0	Case
E04	442782	Spring Grove facial tissue, 30 boxes per case, 100 sheets per box	Yes	0	Case
E05	41041	Kimberly-Clark Wypall X80 Grease and oil 4-ply wiping reinforced towel	No	5	Case
E06	F30570	Grease and oil scrim 4-ply towels. 13" x 12" size. 900 per case	No	10	Case
E07	-	7-3/4" x 400' x 8" roll towel in brown	Yes	11	Case
E08	HG-5000	Hospeco health gards discreet seal toiler seats covers 5,000 per case - 250 per pack	Yes	0	Case
E09	-	Toilet seat cover dispenser that fits item VAH#E08	Yes	2	Each
E10	12-12-01	Tork Center pull 2-ply white hand towel, 590' x 9", M2 system	No	69	Case
E11	559028A	Tork Center pull dispenser that fit VAH #E10	Yes	18	Each
E12	TJ122A	Tork Universal 2-ply jumbo roll white bath tissue	Yes	110	Case
E13	67TR	Tork Dispenser that fits universal 2-ply jumbo roll white bath tissue that fits VAH#E12	Yes	6	Each

ly Corp	Titan Supply, Inc	Monks Clean & Shine

Central	Poly Corp	Titan Supply, Inc		Monks Clean & Shine		United La	bs	Meyer Labs		HP Prod.		Kranz	Superior		Bade	
Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price Total	Price	Total	Price	Total
		\$49.90	\$5,838.30	\$67.91	\$7,945.47			\$47.12	\$5,513.04	\$29.92	\$3,500.64	\$31.82 \$3,722.94	\$28.39	\$3,321.63	\$32.35	\$3,784.95
		\$41.90	\$16,760.00	\$42.26	\$16,904.00			\$48.17	\$19,268.00	\$25.15	\$10,060.00	\$27.62 \$11,048.00			\$28.25	\$11,300.00
												\$0.00				
				\$51.30						\$53.26		\$0.00				
				\$18.58						\$14.17		\$30.54 \$0.00				
		\$26.70	\$133.50	\$21.15	\$105.75			\$22.10	\$110.50	\$18.71	\$93.55	\$20.11 \$100.55			\$24.85	\$124.25
										\$38.24	\$382.40					
										\$15.18	\$166.98	\$19.65 \$216.15	\$30.95	\$340.45		
				\$43.56						\$27.96		\$33.20 \$0.00				
										\$6.38	\$12.76	\$4.66 \$9.32	\$5.62	\$11.24	\$10.00	\$20.00
				\$43.56	\$3,005.64							\$26.58 \$1,834.02	\$38.25	\$2,639.25	\$43.56	\$3,005.64
					\$0.00							\$25.55 \$459.90	\$13.00	\$234.00		
		\$20.95	\$2,304.50	\$37.24	\$4,096.40					\$21.86	\$2,404.60	\$24.27 \$2,669.70	\$25.85	\$2,843.50	\$17.00	\$1,870.00
_										\$13.51	\$81.06	\$27.95 \$167.70	\$13.95	\$83.70		
_																

\$10,783.99

\$1,843.34

\$3,555.63

\$1,870.00

Group F: Hand Soaps/Cleaner and Dispensers

Grou	p F: Hand	Soaps/Cleaner and Dispensers				VENDORS																	
		Desired Inventory				Central Poly Corp	р	Titan Supply,	Inc	Monks Clean & Shine		United Lab	s	Meyer Lab	s	HP Prod	l .	Kranz		Superio	r	Bade	
VAH #	Item#	111	Subs. OK	Quantity	Unit	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
F01	2789-01	GoJo touch free dispensers in a nickel finish	No	2	Case																		
F02	5665-02	GoJo green certified touch free foaming soap	No	16	Case									\$36.25	\$580.00	\$38.60	\$617.60	\$38.05	\$608.80			\$37.64	\$602.24
F03	5362-02	GoJo touch free premium foam antibacterial handwash	No	23	Case									\$38.60	\$887.80	\$61.93	\$1,424.39	\$40.72	\$936.56			\$57.09	\$1,313.07
F04	2740-12	GoJo touch free foaming waterless hand sanitizing soap dispenser in gray, fits VAH# F03	No	10	Each									\$26.25	\$262.50	\$18.00	\$180.00	\$11.15	\$111.50			\$26.12	\$261.20
F05	1807	GoJo pink all purpose hand soap, 1 gal containers	No	20	Case					\$37.30	\$746.00			\$26.25	\$525.00	\$16.18	\$323.60	\$27.12	\$542.40			\$28.73	\$574.60
F06	9212	GoJo antimicrobial hand soap, 27 fl oz containers	No	25	Case					\$112.12	\$2,803.00			\$68.50	\$1,712.50	\$76.07	\$1,901.75	\$72.72	\$1,818.00			\$71.25	\$1,781.25
F07	9034	GoJo antimicrobial hand soap dispenser that fits VAH#F06	No	7	Each									\$12.90	\$90.30	\$11.50	\$80.50	\$10.94	\$76.58			\$14.39	\$100.73
F08	0955-04	GoJo orange hand cleaner with pumas, hand pump in, 4 per case, 1 gal containers	Yes	1	Case					\$58.14	\$58.14	\$39.50	\$39.50	\$53.45	\$53.45	\$59.29	\$59.29	\$56.67	\$56.67			\$57.41	\$57.41
F09	-	Zep TKO hand cleaner, 4 per case, 1 gal bottles	No	10	Case																	\$71.49	\$714.90
F10	-	Grunge Gripers hand cleaner towels	No	6	Case							\$42.50	\$255.00										
F11	DYM422	272 Scrubs in a Bucket hand cleaner towels	No	4	Case					\$27.75	\$111.00			\$57.25	\$229.00								
F12	-	MCR safety lens cleaning towellettes, 100 per dispenser	Yes	10	Each											\$8.06	\$80.60					\$12.46	\$124.60
F13	-	Hand size ivory bar soap	Yes	2	Case					\$31.64	\$63.28			\$31.78	\$63.56	\$33.27	\$66.54	\$36.17	\$72.34	\$35.27	\$70.54	\$35.34	\$70.68
											\$174.28		\$255.00		\$3 233 75		\$404.20		\$188.08				\$714 90

Grou	p G: Misc	ellaneous				VENDORS																	
		Desired Inventory				Central Poly Corp		Titan Supply, Inc		Monks Clean & Shine		United La	os	Meyer Lab	os	HP Pro	d.	Kranz		Superio	ı	Bade	
VAH#	Item#	Description	Subs. OK	Quantity	Unit	Price T	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
G01	-	Plastic 22oz bottle with spray trigger, 24 oz	Yes	50	Each					\$0.93	\$46.50					\$0.40	\$20.00	\$0.37	\$18.50	\$0.91	\$45.50	\$2.00	\$100.00
G02	-	Oil absorbent #85. 50 lb bags	Yes	20	Bag											\$0.44	\$8.80			\$6.70	\$134.00	\$7.50	\$150.00
G03	-	Cellulose sponge: 4" x 7" x 2" size	Yes	0	Each											\$7.45	\$0.00						
G04	-	Fresh Products Cucumber melon urinal screens	No	28	Case											\$114.96	5 \$3,218.88	\$116.93	\$3,274.04				
G05	-	United Labs Vanilla blast crawling insect spray	No	10	Case							\$23.50											
G06	-	Up White ceiling tile spray paint in 12 oz cans	Yes	0	Case							\$18.25				\$23.79	\$0.00						
G07	-	Triumph spray rust converter	No	0	Case							\$28.50									\$0.00		
G08	-	Triumph rust convertor in 1 gallon containers	No	0	Gals	_						\$172.80											
						_											\$3,227.68		\$18.50				

VENDORS

	Central Poly Corp	Titan Supply, Inc	Monks Clean & Shine	United Labs
Group A			\$174.00	
Group B				
Group C			\$216.60	
Group D				\$78.00
Group E				
Group F			\$174.28	\$255.00
Group G				
			\$564.88	\$333.00

Meyer Labs	HP Prod.	Kranz	Superior	Bade
	\$134.26	\$65.32	\$265.10	\$397.88
	\$940.70			\$727.32
		\$24.52		
\$118.20	\$1,274.67		\$22.05	\$323.97
	\$10,783.99	\$1,843.34	\$3,555.63	\$1,870.00
\$3,233.75	\$404.20	\$188.08		\$714.90
	\$3,227.68	\$18.50		
\$3,351.95	\$16,765.50	\$2,139.76	\$3,842.78	\$4,034.07

GRAND TOTAL

\$31,031.94